1 LR6000 INSTALLATION
) / ey
‘ NOTES PARTS LIST
7. TRIM CAN BE MOUNTED UP, DOWN, HORIZONTALLY OR VERTICALLY. ** [TTeM TaTY DESCRIPTION
2. VISION LITE MUST BE AT LEAST 6" FROM CENTERLINE OF TRIM. 1 T At
1 2 2 [#8 X 3/4"FHWS OR 8-32 X 3/8"FHMS UC
Ft‘;gﬁ;z 3 2 | BASE ASSEMBLY
Direction /.,4 | A 3 4 4 [12-24 X 2-1/2" PTHMS
M 5 4 |12-24 HEX NUT
1 & ’k‘, 6 1 |HANDLE ASSEMBLY, PULL
N 2 AN\ VERIFY CORRECT BACKSET
2 @ / AND HORIZONTAL OR VERTICAL | 7 1 [HANDLE ASSEMBLY, PUSH
MOUNTING BEFORE DRILLING. 7 e "
® THEN USE BACKSET TEMPLATE 8 6-32 X 3/8" SHCS
I ~ THAT IS SUPPLIED. 9 2 | stop PN
| 10 | 2 [cover
} 8 11 | 4 [8-32X3/8" OVAL HEAD M.S.
! 12 | 2 |coTTerR PIN
! d 13 1 |7/64" ALLEN KEY
| CAM SHAFT
} 3
I N
I | 2 & 8
|
3’\ ‘ W/ 11

EDGE GUARD NOTE: LATCH CAM N
WHEN PREPPING THE DOOR FOR

THE BACKSET, DETERMINE IF THE &

DOOR WILL RECEIVE AN EDGE Sl

GUARD, IF SO, THE EDGE GUARD Pointing
SHOULD BE INSTALLED FIRST AND ALL PREP MOUNTING HOLES Direction
THEN THE PREP FOR THE LATCH $8 gﬁg}?@?ﬂgé ?QEA\'/-V%E'_- 9
BACKSET SHOULD BE MEASURED HELP PREVENT ANY BINDING
FROM THE OUTSIDE EDGE OF THE ! OF MECHANICAL PARTS 8
EDGE GUARD. :
7
DETAIL IIA" 13 /'w

o O O o
OOO

PULL

11
o T PUSH
&) T § NOTE: \ / \ )
O BEFORE MOUNTING BASE ASSEMBLIES,
50 O 0o CAM MUST BE ROTATED AS PER DRAWING o oy Gy Lo E:)] (:E /
SHOWN IN DETAIL "A".
uP

. PULL" ~ PUSH LEVERS LEVERS

INSTALLATION INSTRUCTIONS: * LEVERS LEVERS LEVERS HORIZONTAL HORIZONTAL
o AL o

1. Prep door according to LR6000 Series latch template LPomTING. HINGE EDGE

2. Install latch using either #8 wood screws or 8-32 machine screws (ltem 2).

3. Check (1) base assembly (Item 3) to ensure the cam is the position shown in Detail A (See above)
Place the base assembly on the push side of the door by inserting the cam shaft into the latch cam as
detailed above.

4. Check the other base assembly (Item 3) and ensure the cam is the position shown in Detail A
(See above). Place base assembly on the pull side of door by engaging the shaft into the latch cam as
detailed above. Fasten both base assemblies together with (4) 12-24 screws (ltem 4) and (4) 12-24
hex nuts (ltem 5). Test that cams rotate freely on both sides of the door after tightening the
screws.

5. Install the push handle assembly (Item 7) to the base assembly installed on push side of door using
(2) socket head cap screws (ltem 8). Insert (1) stop pin (Item 9) through the push base assembly on
the the same side of the direction the push handle is pointing. Test push handle for proper
operation to be sure stop pin was installed in appropriate base assembly hole.

6. Repeat Step #5 on the pull side of the door for the pull handle assembly (Iltem 6). Insert (1)
stop pin (Item 9) through the pull base assembly on the opposite side of the direction the pull
handle assembly is pointing. Test pull handle for proper operaton to be sure stop pin was
installed in appropriate base assembly hole.

7. Place covers (Item 10) over handles and fasten each cover with (2) 8-32 screws (ltem 11).

PATENT PENDING

LR6000-1-04.DWG

@® www.abhmfg.com

E-mail: abhinfo@abhmfg.com L R6 O O O

Architectural Builders Hardware Mfg., Inc.
1222 Ardmore Ave., ltasca, IL 60143 2022 ABH Mg, Inc. PAGE 1 OF 3

MANUFACTURING INC. 630.875.990; FAX 800.9FAXABH (932.9224) C;)rintedinUSA REVISED 03-02-22




1- 1/(E_S|_" DIA. HOLE
SUPPORTS)

LR6000 PUSH/PULL LATCH - DOOR PREP

1-1/8" DIA. HOLE REQUIRED, 2 PLACES
"HOLE" IN REINFORCEMENT

BEVEL EDGE DOOR

DOOR LATCH PROVISIONS

= A

&
STRIKE #8.32/

TAPPED HOLE
(2 PLACES)

\ / BEVEL EDGE DOOR\
\ +
UNIVERSAL OR &7 | ! UNIVERSAL OR
SQUARE EDGE DOOR \ | | SQUARE EDGE DOOR .
—V + N
DEPTH
BASS’;,T ‘ | BACKSET | OF
3-3/4" ‘ 2-3/4" 4-3/8"
5" ACK SET—= 3-3/4" 5-3/8"
o ‘ o 65/
2-1/8" DIA ! (4) 1/4" DIA. 7 85/8"
\ HOLES BOTH SIDES
T _ i T _
| N T V)
! ! 1-1/8" DIA. HOLE
5/32" =] 1-51/64" SEE DEPTH OF \\_\
| |
{\T,Jr,m : H I [1.800] BORE CHART (N1 532
i1 Il I o H 1
&13/16" jLL J‘r‘ 2-1/4" mﬁ ‘u‘ 13/16" 2-1/4"
- - - —- — 1 e —
& 13/1ﬂ I I I ] 29132 & 13/16" H
i [0.900] H>T
LocK * 4 I I 4 ! LOCK }7
I f & L |]
‘“’T’u‘ 3 ! ! ! STRIKE ([
| | | 5
! ‘ | L J i DRILL FOR #8 /|| — |1
| ! | T WOOD SCREW | |
| | | ‘ (2 PLACES)
| | | i —
| | | —
AL | At Sl.
—1-1/8" | 20/32" REINFORCEMENT BY —={1-1/8" |
[0.900] DOOR MFG.
1-51/64"
= 11.800]

METAL DOOR

DOOR PREP INFORMATION:

1. BACKSET DIMENSION FROM LOW EDGE OF BEVEL.

2. CENTER PUNCH ALL HOLES.

3. DRILL HOLES (FOR HOLLOW METAL DOORS,
DO NOT DRILL THRU. CENTER PUNCH & DRILL

HOLES FROM BOTH SIDES OF DOOR).

E

— EDGE GUARD NOTE:

FOR THE BACKSET,
DETERMINE IF THE DOOR
WILL RECEIVE AN EDGE
GUARD, IF SO, THE EDGE
GUARD SHOULD BE
INSTALLED FIRST AND
THEN THE PREP FOR THE
LATCH BACKSET SHOULD
BE MEASURED FROM THE
OUTSIDE EDGE OF THE
EDGE GUARD.

I

N
7

[1 = DECIMAL DIMENSION

WHEN PREPING THE DOOR

=5

<
|
] \

Ny

Al
RECOMMENDED
HEIGHT 44" FROM
FINISHED FLOOR
TO0 CEI‘SI;:‘ER LINE

CHECK LOCAL ORDINANCE
FOR PROPER HEIGHT

i////

}« BACK SET »)

|=~—DEPTH OF BORE

2-1/8" DIA. | (4)1/4" DIA.
THRU HOLE | | THRU HoLES
& N

1-51/64"
= W\ ‘ \\ [1.800]

T *T 29/32"
N f /" _{0.500) Y
A

;//
—

WOOD DOOR

USE PROVIDED ORIGINAL FULL SCALE
TEMPLATE TO PREP THE DOOR

29/32"
[0.900]

1-51/64"
[1.800]

T

[1 = DECIMAL DIMENSION

VERIFY BACKSET
CENTER LINE

MANUFACTURING INC.

@® www.abhmfg.com
E-mail: abhinfo@abhmfg.com
Architectural Builders Hardware Mfg., Inc

1222 Ardmore Ave.,
630.875.9900; FAX 800.9FAXABH (932.9224)

Itasca, IL 60143

LR6000-2-04.DWG

LR6000

PAGE 2 OF 3

2022 ABH Mfg., Inc.

©2022
printed in USA

REVISED 03-02-22



LR6000 PUSH/PULL LATCH - FRAME PREP

e

REINFORCEMENT BY
FRAME MFG. \E
qu LOCK & STRIKE 1 LOCK & STRIKE
HALF DOOR THICKNESS | HALF DOOR THICKNESS
—=1 = DOORSTOP ! | (MEASURED FROM STOP OR —=1 = DOOR STOP h— (MEASURED FROM STOP OR
3/32" — 1-1/4" SILENCER WHEN USED) SILENCER WHEN USED)
W +1/64 3/32" o | 1-1/8" ‘
-0
— simimuian ] NS
MORTAR ! 0o #1224 | [ [ DRILL FOR #8 ‘
GUARD | Y ‘}i | TappeD HOLE*JL\ | Lo } WOOD SCREW| - ﬁ
T | | (@Paces) | ﬁcl} — } (2 PLACES) ~
I I | — T * 4-7/8" \\‘_ N\
] | e b B e
3:3/8" |l I | Lo 3.4 qn — — LIS |
(MIN) | H l 3-3/8" ‘ L A\L i3 3/8 % N / i 2-3/4"
Lo O A V2RI *7;[77;:/’7{/2'771_1,1@-
LOCK | i | -0 ‘ I | | . LOCK — = T
& b ! L w . I | 2116 2 i — i
e R TRE | — — T
L e B
I Rt e ——
o : o — — |
Ly I/ A IE ==
27/32"—<>j 1" X 1-1/2" MIN CAVITY TO
<—>Ll" (MIN) ACCOMMODATE DUST BOX
(ASA STRIKE SHOWN FOR EXAMPLE) ("T" STRIKE SHOWN FOR EXAMPLE)
PREP FOR #8 SCREW
FRAME PREP 1/2 DOOR —{1-11/16 (=
1. Mark centerline of latch bolt on frame. THICKNESS ~—21/32
2. Center strike and mark screw positions. ~1/2
3. Mortllse to -requ.|re.d strike and box depth. G OF LATCH o I
4. All dimensions in inches. j} 2-1/4
- 1 1-11/16
EDGE OF STOP =
(OR SILENCER)
":ﬂiﬁlﬁ
3/8
601LB STRIKE
PREP FOR #12 SCREW 1-1/4
e \[—r PREP FOR #8 SCREW -
1 il L % 1'5/32T—" --9/16 PREP FOR #8 SCREW
[ ] ] T | T 211/16 | B o3
e - | - Fe
4 3/4T 4-1/8 T | | g 123 s
3-1/4 3-3/16| | 3-3/8 4-1/8 1-1/4 1-1/2 2-1/8 ‘
i ] 4-7/8 1 1 | f
L ‘ - 2-1/4
i | } L
1 4 ojte | |- ues - - | 1-11/16
1-5/16
15/16—| .htl‘5 132 1-1/4L% 1/32 / R
1/32 P j32 14 164 1-3/16 -~ -1/16
= :ﬁ[ 775 —F R I )
1/4 3/8 1 R
3/8 3/16 ! 3/8
ASA STRIKE & DUST BOX "T" STRIKE & DUST BOX "D" STRIKE

ASH

MANUFACTURING INC.

@ www.abhmfg.com

E-mail: abhinfo@abhmfg.com

Architectural Builders Hardware Mfg., Inc.

1222 Ardmore Ave., Itasca, IL 60143
630.875.9900; FAX 800.9FAXABH (932.9224)

LR6000-3-04.DWG

LR6000

PAGE 3 OF 3
REVISED 03-02-22

(©) 2022 ABH Mfg., Inc.
printed in USA




	LR6000-1-04.pdf
	Sheets and Views
	Model


	LR6000-2-04.pdf
	Sheets and Views
	Model


	LR6000-3-04.pdf
	Sheets and Views
	Model



